More About on HTML

1. HTML allows changing background colour. Which one of the following attributes of <body> tag is
used to change the background colour of a Web page?
(a) backgroundcolor (b) bgcolor
(c) background (d) bg _color

(e) None of these

2. Which one of the following HTML tags allows inserting horizontal line?
(a) <hrl> (b) <hr>
(c) <hl> (d) <hlr>

(e) None of these

3. Which one of the following code snippet is used to insert horizontal line with no shading?

a) <hr> <shading=no>

(a)
(b) <hr> <shading=noshade>
(c) <hr shading=no shade>
(d) <hr noshade>

(e)

e) None of these

4. HTML allows formatting a paragraph. You can break a line when you want. Which one of the following
is the HTML tag used to break line?
(a) <break> (b) <lbr>
(c) <br> (d) <brl>

(e) None of these

5. Which one of the following code snippets is used for inserting horizontal line with green colour?
(@) <hr color=" green”>

(b) <hl color=" green” >

(c) <hr color green >

(d) <hlr color= green >

(e)

e) None of these

6. Which of the following statements is/are true?
Statement A: Adobe PageMill is used to automate the whole process of site design and implementation.
Statement B: Inline style mixes the content with presentation.

(a) Statement A is correct


admin
Text Box
More About on HTML


(b) Statement B is correct

(c) Both statements A and B are correct

(d) Neither statement A nor statement B is correct
(

)
e) None of these

is used to centrally align the contents of paragraphs within a <div> tag.
(a) <q align="center” >
(b) <div align="center” >
(c) <div="center”>
(d) <q span="center” >
(

)
e) None of these

is used to specify a style for a group of elements.
(a) ID selector (b) Class selector
(c) CSS comment (d) All of these

(e) None of these

Which of the following statements is/are true?

Statement A: #C0COCO is the hexadecimal value of grey colour.
Statement B: #00FFFF is the hexadecimal value of sky blue colour.
(a) Statement A is correct

(b) Statement B is correct

(c) Both statements A and B are correct
(

(

d) Neither statement A nor statement B is correct
)

e) None of these

Match the following:

A B
1. | Red (i) #FFFFFF
2. | Parrot green (i) | #FFFFOO
3. | Yellow (iii) | #FFOOFF
4. | Pink (iv) | #FF0000
#00FF00

(@) 1 —iii, 2—1i, 3 —>iv, 4 —>ii
(b) 1 —>iv, 2—>v,3—1i,4—>ii
(c) 1 =>ii, 2 —iii, 3 —>iv, 4 >v
(d) 1 —>iv, 2 —>v, 3—ii, 4 —>iii

(e) None of these
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